
Total = 190 + 80 + 90 + 150 + 160 + 50 
        = 720 miles.
           Approx. 700
     

 2.

Amount she had to pay extra = $176 - $150
                                          = $26

3.
Soaps = 10 × $7 = $70
Coffee = 2 × $20 = $40
Cookies = 5 × $11 = $55
Cashew = 1 × $25 = $25
Total = 190

 4.

Medium pizza = 2 × $45 = $90
Butternut lasagna = 1 × $30 = $30
Noodles = 2 × $25 = $50
Tart = 1 × $50 = $50
Total = 220

5.

1. 1 Question = 5 minutes
15 Questions = 15 × 5
                   = 75 minutes.

Answer

The cans carried by truck each
year = 1,00,000 × 365 =
3,65,00,000 

6.
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